UNIT 3 GRAMMAR WORKSHEET
1.- DRAG THE REPLIES TO THE CORRECT PLACE
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2.- COMPLETE THE SENTENCES WITH A MODAL OF DEDUCTION.

can’t could may might might not must

a. Look at this photo. The article

be about a buffalo.”

It be. It
be about the bird.”

b. Did you hear a noise? I think there be
someone downstairs.

c. That girl be Jessica. She’s on holiday in
France this week.

d. That be the answer, but I don't think
Sso.

e. He's taken off his jacket and opened the window. He

be hot.
f. That boy looks a bit like Kevin. He be his
brother.
g. It looks like my bag, but it be. My bag is
smaller.

h. Why aren "t you wearing a coat? It 's freezing. You
be really cold.



3.- CHOOSE THE CORRECT ANSWER.

. That girl doesn "t look happy. She be ill.
can’t may may not

. She isn "t answering her phone. She be at home.
must might might not

. That little boy is crying. He be lost.
could can’'t might not

. Be careful! That dog be friendly!
must may may not

. Look, he "s wearing a hat, scarf and gloves. It be

very cold outside!

must may not can’t

Look, Dad s already wearing his jacket. This one be his!

might can’t must



